

Some generalizations of Knopp's identity*

Huaning Liu

Abstract. For integers a, b and $n > 0$, define

$$A_{\Gamma}(a, b, n) = \sum_{\substack{r=1 \\ n \nmid b}}^n \left(\left(\frac{ar}{n} \right) \right) \ln \Gamma \left(\left\{ \frac{b\bar{r}}{n} \right\} \right)$$

and

$$B_{\Gamma}(a, b, n) = \sum_{\substack{r=1 \\ n \nmid b}}^n \left(\left(\frac{ar}{n} \right) \right) \frac{\Gamma' \left(\left\{ \frac{b\bar{r}}{n} \right\} \right)}{\Gamma \left(\left\{ \frac{b\bar{r}}{n} \right\} \right)},$$

where $\sum_r'$ denotes the summation over all r such that $(r, n) = 1$, and $\bar{r}$ is defined by the equation $r\bar{r} \equiv 1 \pmod{n}$. The two sums are analogous to the homogeneous Dedekind sum $S(a, b, n)$. The functional equations for A_{Γ} and B_{Γ} are established. Furthermore, Knopp's identity on Dedekind sum is extended.

Keywords: Dedekind sum, Knopp's identity, homogeneous.

Mathematical subject classification: 11F20.

1 Introduction

For integers a and $n > 0$, the classical Dedekind sum is defined by

$$S(a, n) = \sum_{j=1}^n \left(\left(\frac{j}{n} \right) \right) \left(\left(\frac{aj}{n} \right) \right),$$

Received 26 August 2006.

*This work is supported by the N.S.F. (10271093, 60472068) of P.R. China.

where

$$((x)) = \begin{cases} x - [x] - \frac{1}{2}, & \text{if } x \text{ is not an integer;} \\ 0, & \text{if } x \text{ is an integer.} \end{cases}$$

The sum $S(a, n)$ plays an important role in the transformation theory of the Dedekind η function (see [6] and Chapter 3 of [1] for details).

Knopp [4] established the following arithmetical identity

$$\sum_{cd=m} \sum_{r=1}^d S(ac + rn, dn) = \sigma(m) S(a, n),$$

where $\sigma(m) = \sum_{d|m} d$. Many authors gave elementary proofs for Knopp's identity, for example, Goldberg [3], Parson [5] and Zheng [7].

For integers a, b and $n > 0$, the sum

$$S(a, b, n) = \sum_{r=0}^{n-1} \left(\left(\frac{ar}{n} \right) \right) \left(\left(\frac{br}{n} \right) \right)$$

is called a homogeneous Dedekind sum. Zheng [8] obtained the following extension of Knopp's identity

$$\sum_{cd=m} \sum_{r_1, r_2 \in d_*} S(ac + r_1 n, bc + r_2 n, dn) = m \sigma(m) S(a, b, n),$$

where $d_* = \{r \in \mathbb{Z} : 0 \leq r < d\}$.

According to [2], for a function F of two complex variables into the complex field C , if for any ordered pair $\langle x, y \rangle$ in the domain $\text{Dom}(F)$ of F we have

$$\left\{ \left\langle \frac{x+r}{n}, ny \right\rangle : r \in n_* \right\} \subseteq \text{Dom}(F) \quad \text{and} \quad \sum_{r=0}^{n-1} F\left(\frac{x+r}{n}, ny\right) = F(x, y)$$

for every $n = 1, 2, 3, \dots$, then we call F a uniform function into C .

A uniform function F is said to be periodic if

$$\langle x, y \rangle \in \text{Dom}(F) \implies \langle x \pm 1, y \rangle \in \text{Dom}(F) \quad \& \quad F(x \pm 1, y) = F(x, y).$$

We use PUF to denote the class of all periodic uniform functions.

Set

$$\left[\begin{array}{c} F; x, y \\ G; u, v \end{array} \right] (a, b, n) = \sum_{r=0}^{n-1} F\left(\frac{x+ar}{n}, ny\right) G\left(\frac{u+br}{n}, nv\right).$$

Chen and Sun [2] gave the following extension of Knopp's identity.

Proposition 1.1. *Let $a, b \in \mathbb{Z}$, $m, n \in \mathbb{Z}^+$, $F, G \in PUF$, $\langle x, y \rangle \in \text{Dom}(F)$ and $\langle u, v \rangle \in \text{Dom}(G)$. Then we have the identity*

$$\begin{aligned} \sum_{cd=m} \sum_{r_1, r_2 \in d_*} \left[\begin{matrix} F; x, y \\ G; u, v \end{matrix} \right] (ac + r_1 n, bc + r_2 n, dn) \\ = m \sum_{d|m} d \left[\begin{matrix} F; x/d, dy \\ G; u/d, dv \end{matrix} \right] (a, b, n). \end{aligned}$$

For $a, b \in \mathbb{Z}$ and $n \in \mathbb{Z}^+$, define

$$S_\Gamma(a, b, n) = \sum_{\substack{r=0 \\ n \nmid br}}^{n-1} \left(\left(\frac{ar}{n} \right) \right) \ln \Gamma \left(\left\{ \frac{br}{n} \right\} \right)$$

and

$$T_\Gamma(a, b, n) = \sum_{\substack{r=0 \\ n \nmid br}}^{n-1} \left(\left(\frac{ar}{n} \right) \right) \frac{\Gamma' \left(\left\{ \frac{br}{n} \right\} \right)}{\Gamma \left(\left\{ \frac{br}{n} \right\} \right)},$$

where $\Gamma(x)$ is the well-known gamma function. Applying Proposition 1.1 they obtained the following results.

Proposition 1.2. *Let $a, b \in \mathbb{Z}$ and $m, n \in \mathbb{Z}^+$.*

(i) *For the function T_Γ we have the functional function:*

$$\sum_{cd=m} \frac{1}{d} \sum_{r_1, r_2 \in d_*} T_\Gamma(ac + r_1 n, bc + r_2 n, dn) = md(m) T_\Gamma(a, b, n),$$

where $d(m)$ is the divisor function.

(ii) *For S_Γ we have*

$$\begin{aligned} \sum_{cd=m} \sum_{r_1, r_2 \in d_*} S_\Gamma(ac + r_1 n, bc + r_2 n, dn) - m\sigma(m) S_\Gamma(a, b, n) \\ = m \sum_{d|m} \Lambda(d) \sigma \left(\frac{m}{d} \right) \left(\frac{S(a, b, n/(d, n))}{d/(d, n)} - S(a, b, n) \right), \end{aligned}$$

where (d, n) is the greatest common divisor of d and n , and $\Lambda(n)$ is the Mangoldt function.

In this paper, we shall give some further generalizations of Knopp's identity. Let

$$\left\{ \begin{array}{l} F; x, y \\ G; u, v \end{array} \right\} (a, b, n) = \sum_{r=1}^n{}' F\left(\frac{x+ar}{n}, ny\right) G\left(\frac{u+b\bar{r}}{n}, nv\right),$$

where $\sum_r{}'$ denotes the summation over all r such that $(r, n) = 1$, and $\bar{r}$ is defined by the equation $r\bar{r} \equiv 1 \pmod{n}$. In Section 2 we will prove the following:

Theorem 1.1. *Let $a, b \in \mathbb{Z}$, $m, n \in \mathbb{Z}^+$ with $(m, n) = 1$, $F, G \in \text{PUF}$, $\langle x, y \rangle \in \text{Dom}(F)$ and $\langle u, v \rangle \in \text{Dom}(G)$. Then we have the identity*

$$\sum_{d|m} \sum_{r_1, r_2 \in d_*} \left\{ \begin{array}{l} F; x, y \\ G; u, v \end{array} \right\} (a + r_1 n, b + r_2 n, dn) = m \left\{ \begin{array}{l} F; x, y \\ G; u, v \end{array} \right\} (a, b, n).$$

Theorem 1.2. *Let $a, b \in \mathbb{Z}$, $m, n \in \mathbb{Z}^+$ with $(m, n) = 1$, $F, G \in \text{PUF}$, $\langle x, y \rangle \in \text{Dom}(F)$ and $\langle u, v \rangle \in \text{Dom}(G)$. Then we have*

$$\sum_{cd=m} \sum_{r_1, r_2 \in d_*} \left\{ \begin{array}{l} F; x, y \\ G; u, v \end{array} \right\} (ac + r_1 n, b\bar{c} + r_2 n, dn) = m \left\{ \begin{array}{l} F; x, y \\ G; u, v \end{array} \right\} (a, b, n),$$

where $c\bar{c} \equiv 1 \pmod{n}$.

Moreover, define

$$A_\Gamma(a, b, n) = \sum_{\substack{r=1 \\ n \nmid b}}^n \left(\left(\frac{ar}{n} \right) \right) \ln \Gamma \left(\left\{ \frac{b\bar{r}}{n} \right\} \right)$$

and

$$B_\Gamma(a, b, n) = \sum_{\substack{r=1 \\ n \nmid b}}^n \left(\left(\frac{ar}{n} \right) \right) \frac{\Gamma' \left(\left\{ \frac{b\bar{r}}{n} \right\} \right)}{\Gamma \left(\left\{ \frac{b\bar{r}}{n} \right\} \right)}.$$

In Section 3 we shall prove the following:

Theorem 1.3. Let $a, b \in \mathbb{Z}$ and $m, n \in \mathbb{Z}^+$ with $(m, n) = 1$.

(i) For the function B_Γ we have the functional function:

$$\sum_{d|m} \frac{1}{d} \sum_{r_1, r_2 \in d_*} B_\Gamma(a + r_1 n, b + r_2 n, dn) = m B_\Gamma(a, b, n).$$

(ii) For A_Γ we have

$$\begin{aligned} \sum_{d|m} \sum_{r_1, r_2 \in d_*} A_\Gamma(a + r_1 n, b + r_2 n, dn) - m A_\Gamma(a, b, n) \\ = \left(m \ln n - \sum_{d|m} \ln(dn) \right) C(a, b, n), \end{aligned}$$

where

$$C(a, b, n) = \sum_{r=1}^n \left(\left(\frac{ar}{n} \right) \right) \left(\left(\frac{b\bar{r}}{n} \right) \right).$$

Theorem 1.4. Let $a, b \in \mathbb{Z}$ and $m, n \in \mathbb{Z}^+$ with $(m, n) = 1$.

(i) For the function B_Γ we have the functional function:

$$\sum_{cd=m} \frac{1}{d} \sum_{r_1, r_2 \in d_*} B_\Gamma(ac + r_1 n, b\bar{c} + r_2 n, dn) = m B_\Gamma(a, b, n),$$

where $c\bar{c} \equiv 1 \pmod{n}$.

(ii) For A_Γ we have

$$\begin{aligned} \sum_{cd=m} \sum_{r_1, r_2 \in d_*} A_\Gamma(ac + r_1 n, b\bar{c} + r_2 n, dn) - m A_\Gamma(a, b, n) \\ = \left(m \ln n - \sum_{d|m} \ln(dn) \right) C(a, b, n). \end{aligned}$$

2 Proofs of Theorem 1.1 and Theorem 1.2

First we need the following lemma.

Lemma 2.1. Let $a \in \mathbb{Z}$, $n \in \mathbb{Z}^+$, $F \in \text{PUF}$ and $\langle x, y \rangle \in \text{Dom}(F)$. Then

$$\sum_{r=0}^{n-1} F\left(\frac{x+ar}{n}, ny\right) = (a, n) F\left(\frac{x}{(a, n)}, (a, n)y\right).$$

Proof. This is Lemma 2.1 of [2].

Now we prove Theorem 1.1. By Lemma 2.1 we have

$$\begin{aligned} & \sum_{d|m} \sum_{r_1, r_2 \in d_*} \left\{ \begin{matrix} F; x, y \\ G; u, v \end{matrix} \right\} (a + r_1 n, b + r_2 n, dn) \\ &= \sum_{d|m} \sum_{r_1, r_2 \in d_*} \sum'_{r=1}^{dn} F\left(\frac{x + (a + r_1 n)r}{dn}, dny\right) G\left(\frac{u + (b + r_2 n)\bar{r}}{dn}, dnv\right) \\ &= \sum_{d|m} \sum'_{r=1}^{dn} \sum_{r_1 \in d_*} F\left(\frac{x + ar}{dn} + \frac{r_1 r}{d}, dny\right) \sum_{r_2 \in d_*} G\left(\frac{u + b\bar{r}}{dn} + \frac{r_2 \bar{r}}{d}, dnv\right) \\ &= \sum_{d|m} \sum'_{r=1}^{dn} F\left(\frac{x + ar}{n}, ny\right) G\left(\frac{u + b\bar{r}}{n}, nv\right). \end{aligned} \quad (2.1)$$

Since $(m, n) = 1$, we get $(d, n) = 1$. Let $r = r_1 d + r_2 n$, then $\bar{r} = \bar{r}_1 \bar{d}^2 d + \bar{r}_2 \bar{n}^2 n$, where

$$d\bar{d} \equiv 1 \pmod{n}, \quad n\bar{n} \equiv 1 \pmod{d}, \quad r_1 \bar{r}_1 \equiv 1 \pmod{n}, \quad r_2 \bar{r}_2 \equiv 1 \pmod{d}.$$

Therefore

$$\begin{aligned} & \sum_{d|m} \sum'_{r=1}^{dn} F\left(\frac{x + ar}{n}, ny\right) G\left(\frac{u + b\bar{r}}{n}, nv\right) \\ &= \sum_{d|m} \sum'_{r_1=1}^n \sum'_{r_2=1}^d F\left(\frac{x + a(r_1 d + r_2 n)}{n}, ny\right) G\left(\frac{u + b(\bar{r}_1 \bar{d}^2 d + \bar{r}_2 \bar{n}^2 n)}{n}, nv\right) \\ &= \sum_{d|m} \sum'_{r_1=1}^n \sum'_{r_2=1}^d F\left(\frac{x + ar_1 d}{n}, ny\right) G\left(\frac{u + b\bar{r}_1 \bar{d}}{n}, nv\right) \\ &= \sum_{d|m} \phi(d) \sum'_{r_1=1}^n F\left(\frac{x + ar_1 d}{n}, ny\right) G\left(\frac{u + b\bar{r}_1 \bar{d}}{n}, nv\right). \end{aligned} \quad (2.2)$$

When r_1 runs over a reduced residue system modulo n , $r_1 d$ also runs over a reduced residue system modulo n . So we have

$$\begin{aligned} & \sum_{d|m} \phi(d) \sum_{r_1=1}^n F\left(\frac{x + ar_1 d}{n}, ny\right) G\left(\frac{u + b\bar{r}_1 \bar{d}}{n}, nv\right) \\ &= \sum_{d|m} \phi(d) \sum_{r_1=1}^n F\left(\frac{x + ar_1}{n}, ny\right) G\left(\frac{u + b\bar{r}_1}{n}, nv\right) \quad (2.3) \\ &= m \left\{ \begin{array}{l} F; x, y \\ G; u, v \end{array} \right\} (a, b, n). \end{aligned}$$

Theorem 1.1 immediately follows from (2.1), (2.2) and (2.3). Similarly we can get Theorem 1.2.

3 Proofs of Theorem 1.3 and Theorem 1.4

According to [2], define $D(x, y) = ((x))$ and $\Gamma^* : (\mathcal{R}^+ \cup \{0\}) \times \mathcal{R}^+ \rightarrow \mathcal{R}^+$ as follows:

$$\Gamma^*(x, y) = \begin{cases} \Gamma(x)y^x / \sqrt{2\pi y}, & \text{if } x > 0; \\ \sqrt{2\pi y}, & \text{if } x = 0. \end{cases}$$

We know that $D(x, y)$ and $\Gamma_*(x, y) = \ln \Gamma^*({x}, y)$ belong to PUF. Let

$$\Psi(x, y) = \begin{cases} (\Gamma'(x)/\Gamma(x) + \ln y)/y, & \text{if } x > 0; \\ (-\gamma + \ln y)/y, & \text{if } x = 0. \end{cases}$$

The function $\psi(x, y) = \tilde{\Psi}(x, y)$ also lies in PUF.

Now we establish the following:

Lemma 3.1. *Let $a, b \in \mathcal{Z}$ and $m, n \in \mathcal{Z}^+$. Then we have*

$$\left\{ \begin{array}{l} D; 0, m \\ \Gamma_*; 0, m \end{array} \right\} (a, b, n) = A_\Gamma(a, b, n) + \ln(mn)C(a, b, n)$$

and

$$\left\{ \begin{array}{l} D; 0, m \\ \psi; 0, m \end{array} \right\} (a, b, n) = \frac{B_\Gamma(a, b, n)}{mn}.$$

Proof. From the definition of Γ_* we have

$$\begin{aligned} \left\{ \begin{array}{l} D; 0, m \\ \Gamma_*; 0, m \end{array} \right\} (a, b, n) &= \sum_{r=1}^n \left(\left(\frac{ar}{n} \right) \right) \Gamma_* \left(\frac{b\bar{r}}{n}, mn \right) \\ &= \sum_{\substack{r=1 \\ n \nmid b}}^n \left(\left(\frac{ar}{n} \right) \right) \left[\ln \Gamma \left(\left\{ \frac{b\bar{r}}{n} \right\} \right) + \left(\left\{ \frac{b\bar{r}}{n} \right\} - \frac{1}{2} \right) \ln(mn) - \frac{\ln(2\pi)}{2} \right] \\ &\quad + \sum_{\substack{r=1 \\ n \mid b}}^n \left(\left(\frac{ar}{n} \right) \right) \frac{\ln(2\pi mn)}{2}. \end{aligned}$$

By Lemma 2.1 we get

$$\sum_{r=1}^n \left(\left(\frac{ar}{n} \right) \right) = \sum_{r=1}^n \left(\left(\frac{ar}{n} \right) \right) \sum_{\substack{d \mid n \\ d \mid r}} \mu(d) = \sum_{d \mid n} \mu(d) \sum_{r=1}^{n/d} \left(\left(\frac{ar}{n/d} \right) \right) = 0.$$

Therefore

$$\begin{aligned} \left\{ \begin{array}{l} D; 0, m \\ \Gamma_*; 0, m \end{array} \right\} (a, b, n) &= \sum_{\substack{r=1 \\ n \nmid b}}^n \left(\left(\frac{ar}{n} \right) \right) \ln \Gamma \left(\left\{ \frac{b\bar{r}}{n} \right\} \right) \\ &\quad + \ln(mn) \sum_{r=1}^n \left(\left(\frac{ar}{n} \right) \right) \left(\left\{ \frac{b\bar{r}}{n} \right\} \right) \\ &= A_\Gamma(a, b, n) + \ln(mn)C(a, b, n). \end{aligned}$$

Similarly from Lemma 2.1 we have

$$\begin{aligned} \left\{ \begin{array}{l} D; 0, m \\ \psi; 0, m \end{array} \right\} (a, b, n) &= \sum_{r=1}^n \left(\left(\frac{ar}{n} \right) \right) \psi \left(\frac{b\bar{r}}{n}, mn \right) \\ &= \sum_{\substack{r=1 \\ n \nmid b}}^n \left(\left(\frac{ar}{n} \right) \right) \frac{1}{mn} \left(\frac{\Gamma' \left(\left\{ \frac{b\bar{r}}{n} \right\} \right)}{\Gamma \left(\left\{ \frac{b\bar{r}}{n} \right\} \right)} + \ln(mn) \right) \\ &\quad + \sum_{\substack{r=1 \\ n \mid b}}^n \left(\left(\frac{ar}{n} \right) \right) \frac{1}{mn} (-\gamma + \ln(mn)) \end{aligned}$$

$$= \frac{1}{mn} \sum_{\substack{r=1 \\ n \nmid b}}^n \left(\left(\frac{ar}{n} \right) \right) \frac{\Gamma' \left(\left\{ \frac{b\bar{r}}{n} \right\} \right)}{\Gamma \left(\left\{ \frac{b\bar{r}}{n} \right\} \right)} = \frac{B_{\Gamma}(a, b, n)}{mn}.$$

This proves Lemma 3.1.

Now we prove Theorem 1.3 and Theorem 1.4. By Theorem 1.1,

$$\sum_{d|m} \sum_{r_1, r_2 \in d_*} \left\{ \begin{matrix} D; 0, 1 \\ \psi; 0, 1 \end{matrix} \right\} (a + r_1 n, b + r_2 n, dn) = m \left\{ \begin{matrix} D; 0, 1 \\ \psi; 0, 1 \end{matrix} \right\} (a, b, n),$$

then from Lemma 3.1 we have

$$\sum_{d|m} \frac{1}{d} \sum_{r_1, r_2 \in d_*} B_{\Gamma}(a + r_1 n, b + r_2 n, dn) = m B_{\Gamma}(a, b, n).$$

Similarly from Theorem 1.2 and Lemma 3.1 we can get

$$\sum_{cd=m} \frac{1}{d} \sum_{r_1, r_2 \in d_*} B_{\Gamma}(ac + r_1 n, b\bar{c} + r_2 n, dn) = m B_{\Gamma}(a, b, n),$$

where $c\bar{c} \equiv 1 \pmod{n}$. This proves (i) of Theorem 1.3 and Theorem 1.4.

By Theorem 1.1 we also have

$$\sum_{d|m} \sum_{r_1, r_2 \in d_*} \left\{ \begin{matrix} D; 0, 1 \\ \Gamma_*; 0, 1 \end{matrix} \right\} (a + r_1 n, b + r_2 n, dn) = m \left\{ \begin{matrix} D; 0, 1 \\ \Gamma_*; 0, 1 \end{matrix} \right\} (a, b, n),$$

then from Lemma 3.1 we get

$$\begin{aligned} & \sum_{d|m} \sum_{r_1, r_2 \in d_*} A_{\Gamma}(a + r_1 n, b + r_2 n, dn) \\ & \quad + \sum_{d|m} \sum_{r_1, r_2 \in d_*} \ln(dn) C(a + r_1 n, b + r_2 n, dn) \\ & = m A_{\Gamma}(a, b, n) + m \ln n C(a, b, n). \end{aligned}$$

From the proof of Theorem 1.1 we easily have

$$\sum_{d|m} \sum_{r_1, r_2 \in d_*} \ln(dn) C(a + r_1 n, b + r_2 n, dn) = \sum_{d|m} \ln(dn) C(a, b, n).$$

Therefore

$$\begin{aligned} \sum_{d|m} \sum_{r_1, r_2 \in d_*} A_{\Gamma}(a + r_1 n, b + r_2 n, dn) - mA_{\Gamma}(a, b, n) \\ = \left(m \ln n - \sum_{d|m} \ln(dn) \right) C(a, b, n). \end{aligned}$$

Similarly from Theorem 1.2 and Lemma 3.1 we get

$$\begin{aligned} \sum_{cd=m} \sum_{r_1, r_2 \in d_*} A_{\Gamma}(ac + r_1 n, b\bar{c} + r_2 n, dn) - mA_{\Gamma}(a, b, n) \\ = \left(m \ln n - \sum_{d|m} \ln(dn) \right) C(a, b, n). \end{aligned}$$

This completes the proofs of (ii) of Theorem 1.3 and Theorem 1.4.

References

- [1] T.M. Apostol. *Modular Functions and Dirichlet Series in Number Theory*. Springer-Verlag, New York, 1976.
- [2] Beifang Chen and Zhiwei Sun. *Generalizations of Knopp's identity*. Journal of Number Theory, **97** (2002), 186–198.
- [3] L.A. Goldberg. *An elementary proof of Knopp's theorem on Dedekind sums*. Journal of Number Theory, **12** (1980), 541–542.
- [4] M.I. Knopp. *Hecke operators and an identity for the Dedekind sums*. Journal of Number Theory, **12** (1980), 2–9.
- [5] L.A. Parson. *Dedekind sums and Hecke operators*. Math. Proc. Cambridge Philos. Soc., **88** (1980), 11–14.
- [6] H. Rademacher. *Dedekind Sums*. Carus Mathematical Monographs, Mathematical Association of America, 1972.
- [7] Zhiyong Zheng. *On a theorem of Dedekind sums*. Acta Math. Sinica, **37** (1994), 690–694.
- [8] Zhiyong Zheng. *The Petersson-Knopp identity for the Homogeneous Dedekind sums*. Journal of Number Theory, **57** (1996), 223–230.

Huaning Liu

Department of Mathematics
Northwest University
Xi'an, Shaanxi
P.R. CHINA

E-mail: hnliumath@hotmail.com; hnliu@nwu.edu.cn